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7K i C — 27.9 28.5 23 25 25.7 26.8 20.7 27.5 26.5 17.6 22.7
7% B i S mg/L WEBERI0. 100 F 0.40 0.40 0.30 0.25 0.50 0.30 0.35 0.30 0.40 0.35 0.40
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K i i) — BHShenze WhEn < Wan < WhEn < WhEn 4 WihEn 4 Whan 4 WhEn 4 WhEn 4 WhEn < BRiEing msh g
AREIY LR OZE DAY mg/L 0.003LLF - - - - - - - - - <0.0003 <0.0003
K Kk Y 2 o b & W mg/L 0.0005LL F - - - - - - - - - <0.00005 <0.00005
Lk OZEOWLEW mg/L 0.01LLF - - - - - - - - - <0.001 <0.001
th Kk O & O b & W mg/L 0.01LLF - - - - - - - - - <0.001 <0.001
EE kK O O G W mg/L 0.01LLF - - - - - - - - - <0.001 <0.001
AN i 7 v AN b & W mg/L. 0.02LLF - - - - - - - - - <0.002 <0.002
Wy BE B % # mg/L. 0.04L4 F - - - - - - - - - <0.004 <0.004
ST At RO T v mg/L 0.01LLF - - - - - - - - - <0.001 <0.001
T EE NN EEE me/L 10LLF - - 5.4 5.5 - 5.4 4.9 4.9 6.2 3.0 2.4
7 v #E MK XZET O E WD mg/L. 0.80LF - - - - - - - - - 0.07 0.07
KU HE K OET O ED mg/L. 1LOLLTF - - - - - - - - - <0.02 <0.02
[} i 1t ik # mg/LL 0.002L4 F - - - - - - - - - <0.0002 <0.0002
L4- ¥ 4 X B v mg/L. 0.05L4 F - - - - - - - - - <0.005 <0.005
A A A R T 0.040LF - - - - - - - - - <0.001 <0.001
Yy v v A K v mg/L 0.020LF - - - - - - - - - <0.001 <0.001
> o 7 o T F L v mg/L 0.01L4 F - - <0.001 - - - - - - <0.001 <0.001
KU 7 momn x F L o mg/L 0.01LLF - - - - - - - - - <0.001 <0.001
~ D ¥ N mg/L 0.01LLF - - - - - - - - - <0.001 <0.001
pics # i’ mg/L. 0.6L1F - - - - - - - - - <0.06 <0.06
Vs = = i3 % mg/L. 0.02LL F - - - - - - - - - <0.002 <0.002
Vi = = N N mg/L 0.06LLF - - - - - - - - - <0.001 0.001
P = = i3 7 mg/L. 0.03L4 F - - - - - - - - - <0.003 <0.003
Y 7 v ® J uwua XK mg/L 0.1LLF - - - - - - - - - <0.001 0.001
R # A mg/L. 0.01LLF - - - - - - - - - <0.001 <0.001
A= mg/L 0.1LLF - - - - - - - - - <0.001 0.003
) A7 = S = S (N mg/L 0.030LTF - - - - - - - - - <0.003 <0.003
2= T SV = B = B O mg/L 0.030L°F - - - - - - - - - <0.001 0.001
7 S mg/L 0.090LF - - - - - - - - - <0.001 <0.001
A v AN T L F kK mg/L 0.08LLF - - - - - - - - - <0.005 <0.005
e kX % O b &8 mg/L 1LOLLF - - - - - - - - - <0.005 <0.005
TNANI=U ALK OEONAEDY mg/L 0.2 T - - - - - - - - - <0.02 <0.02
B K O F o b A& W mg/L. 0.3LLF - - - - - - - - - <0.01 <0.01
i & O = o kb A W mg/L. 1.OLLF - - - - - - - - - 0.003 0.002
TRV AN KO ZEDOIEW mg/L 20004 F - - - - - - - - - 8.0 7.7
~ v H U RO EDOIEW mg/L. 0.05L4 - - - - - - - - - <0.005 <0.005
WOk w4 F v mg/L. 2004 F 5.6 5.6 9.2 9.3 5.7 9.2 8.8 8.6 9.1 5.8 5.8
DA RV /AN ~ 7 F ¥ U A % mg/L BOOL‘J\‘F - - - - - - - - - 52 46
7K i 7% o L7 mg/L. 50000 T - - - - - - - - - 110 100
B 4 v RJom i A mg/L 0.204F - - - - - - - - - <0.02 <0.02
v - *+ B3 N Nz mg/L 0.00001L4 F - - - - - - - - - <0.000001 <0.000001
- A F L A Y R A X A — N mg/L 0.00001L4 F - - - - - - - - - <0.000001 <0.000001
A4 4 v Kom i %A mg/L. 0.02L4 F - - - - - - - - - <0.002 <0.002
7 ES J — v ¥ mg/L. 0.005LL F - - - - - - - - - <0.0005 <0.0005
A 1% m ) & ) mg/L 3LLF 0.4 0.4 <0.3 <0.3 0.4 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
p H B — 5.8~8.6 6.9 6.9 6.8 6.9 7.0 6.8 7.1 6.6 7.2 6.6 6.6
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=y TNV Kk OZEONLEW mg/L 0.02LL F - - <0.001 - - - - - - - -
Y rmu 7 khk=r)Nn mg/L 0.01LLF - - <0.001 - - - - - - - -
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i) fit§ [ e %= ES mg/L 0.04LL - - - - - - -
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7 N7 7/ mm = F LV mg/L. 0.01LLF - - - - - - -
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~ 2 + Dz mg/1. 0.01LLF - - - - - - -
i ES [ mg/L 0.6LLF - - - - - - -
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7 =4 =4 RN v AN mg/L 0.06LL T - - - - - - -
P4 Vi = =t W i3 mg/L. 0.042L F - - - - - - -
Y 7 m ® 7 vwu XK v mg/L 0.1LLF - - - - - - -
B ES i3 mg/L 0.01LLF - - - - - - -
A= S mg/L 0.1LF - - - - - - -
o s v v EE W mg/L. 0.2LL°F - - - - - - -
7 v £ YV 7 wvnu XK mg/L 0.03LL - - - - - - -
7 =i B N Jv IS mg/L 0.09LL F - - - - - - -
s N A 7 NV F E F mg/L 0.08LL T — ~ — ~ ~ ~ -
o &k O 2 ot &Y mg/L. LOLLTF - - - - - - -
TAI=U AR OZEONRED me/LL 0.2LLF - - - - - - -
g Kk ™ o kA& WY mg/L. 0.30LF - - - - - - -
W ok ™ o b AW mg/L 1.0OLLF - - - - - - -
FTrIT AR OTEDONAED mg/L 20000 - - - - - - -
~ v kW E O EWY mg/L 0.05LLF - - - - - - -
i & i) A *+ D mg/L. 2000 F - _ - - - - -
A A NN A AN S i mg/L 3004 - - - - - - -
7& ¥ 7% B [ mg/L. 5000 F - - - - - - -
[z 4 4 v B om & A mg/L 0.20L T - - - - - - -
B = ER A 2 v mg/L. 0.00001 L F - - - - - - -
2- A F N A4 YV KR L F F — mg/L 0.00001LLF - - - — - - -
A A v R om E A mg/L. 0.020L F - - - - - - -
7 S J — g il mg/LL 0.00524 F - - - - - - -
H M (& F B B #E (TOO) O &) mg/L. 3LLF - - - - - - -
D H fiE 5.8~8.6 - - - - - - -
S — B Tlhnze - - - - - - -
R = BE TR - - - - - - -
=) E B 5L0F - - - - - - -
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TUvTFELYRPZOEY mg/L. 0.0204 F <0.0004 - - - - - -
v v kB EOIWKEY me/LL 0.002L4 F <0.0002 - - - - - -
12- ¥ 7 w om x x v mg/L. 0.0042L <0.0004 - - - - B -
k Vv = M mg/L 0.4LLF <0.001 - - - - - -
THEANEEY Q- F L ~F L) mg/L. 0.0804 F <0.008 - - - - B -
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1 1, 8 — 24/Op7aRy( D — D) mg/L 0.05 <0.0005 61 F 7 ~ M h |2 7 mg/L 0.02 <0.0002
2 2, 2—-DPA( & 35Kv) mg/L 0.08 <0.001 62 T 27 U L ~ Uy #*F v mg/L 0.002 <0.00002
3 2 4 —D (2, 4 —PA) mg/L 0.02 <0.0002 63| FAHTHAHLT( M B P M C ) mg/L 0.02 <0.0002
4| E P N mg/L 0.004 <0.00005 641 k Y 7 A = v mg/L 0.006 <0.00006
5 M C P A mg/L 0.005 <0.00005 65 kyo2BMLAKRY( D E P ) mg/L 0.005 <0.0002
6 7 b2 a 7 N mg/L 09 <0.009 66 [ 2 R A | 2 mg/L 01 <0.001
T 7 i 7 T - ~ mg/L 0.006 <0.00006 67 | k Y 7 v 2 Y > mg/L 0.06 <0.0006
8|1 7 ~ 7 b4 b mg/L 0.01 <0.0001 68 | + 7 A A 2 K mg/L 0.03 <0.0003
91 7 = A R A mg/L 0.003 <0.00005 69 [ % 2 3 - ~ mg/L 0.01 <0.00005
10 7 2 b 7 z mg/L 0.006 <0.0003 0| F ~ A 7w A mg/L 0.0009 <0.00005
1| 7 > 9 =) — v mg/L 0.03 <0.0003 1] E 2 7 H = v mg/L 0.01 <0.0001
2y4 v x ¥ F #* v mg/L 0.005 <0.00005 2l E 3 VvV X ¥ 7 =z v mg/L 0.004 <0.00004
13 4 VJ 7 T v LS S mg/L 0.001 <0.00003 73 ESVUYURr—-—+r( EZJL—F) mg/L 0.02 <0.0002
14 4v7oAhA LI (M1 P C) mg/L 0.01 <0.0001 74 E U 4 72 z v F F v mg/L 0.002 <0.00005
Bl 4vFaFArsy (1 P T) mg/L 03 <0.003 wle v o7 oF A oL T mg/L 0.02 <0.0002
16 4 7 72 v h L N Y U mg/L 0.002 <0.00002 76 E =} * m} > mg/L 0.05 <0.0005
7| 47RA"y KRR (1 B P ) mg/L 0.09 <0.0009 T2 1 7 A = v mg/L 0.0005 <0.000005
18 4 H] / 9 2 P v mg/L 0.006 <0.00006 78 Jzx=tBFAF( M E P ) mg/L 0.01 <0.0001
19 4 M g / 2 7 M mg/L 0.009 <0.00009 79 2/ HAhNLT (B P M C ) mg/L 0.03 <0.0003
20 I 3 7 =} h )% 7 mg/L 0.03 <0.0003 80 2 T 1 Ls v > mg/L 0.05 <0.0005
200 =T 0 2 =z v 7 B v 4 R mg/L 0.08 <0.0008 81 Jxzv F A ( M P P ) mg/L 0.006 <0.00006
22 IVRRARLIF7ZUV(RUYIEY) mg/L 0.01 <0.0001 82 Jzv b —-—HFCP A P ) mg/L 0.007 <0.00007
21 & ¥ ¥ 0 4 @O A K v mg/L 0.02 <0.0002 83 2 =z v b+~ Z ¥ = F mg/L 0.01 <0.0001
241 A * ¥ v R ( F # R ) mg/L 0.03 <0.0003 84 7 H 3 A N mg/L 01 <0.001
24 v ¥ X + B E Vv mg/L 01 <0.001 85 7 3 9 o - )2 mg/L 0.03 <0.0003
26| A S o w S mg/L 0.0006 <0.000006 86 | 7 e 2 7w A mg/L 0.02 <0.0002
210 h 7 = v R b B = )L mg/L 0.008 <0.00008 87| 2 F =\w T =z oo mg/L 0.02 <0.0002
28| A U 3 Y 7 mg/L 0.08 <0.0008 88| 7 v 7 v + L mg/L 0.03 <0.0003
29 Ao Ny L (N A C ) mg/L 0.02 <0.0002 89 7 v F 3 4 B - L mg/L 0.05 <0.0005
30 # Uz R 7 7 b mg/L 0.0003 <0.000003 90| 7 ¥ 2 F b mg/L 0.09 <0.0009
31 * /%9 32> ( A C N ) mg/L 0.005 <0.00005 91 7 F * LS S mg/L 0.007 <0.00007
21 * x 7 e b mg/L 0.3 <0.003 92| 7 \m € a + J - L mg/L 0.05 <0.0005
3| 7 = v A > mg/L 0.03 <0.0003 8| 7 H = ki = K mg/L 0.05 <0.0005
4 ! R o — ~ mg/L 2 <0.02 “)] 7 B KX 5 J = N mg/L 0.03 <0.0003
35 g /12 Gy > ES - ~ mg/L 0.02 <0.0002 95 7 o £ 7 F N mg/L 01 <0.001
36| 7 A L A v 7 mg/L 0.02 <0.0002 96 | ~ / 2 Uz mg/L 0.02 <0.0002
37| #»BM=btB Tz ( C N P ) mg/L 0.0001 <0.0001 97 ~ v > 9 A v mg/L 0.1 <0.001
38| 7 8 LvooE Y r R mg/L 0.003 <0.00003 8| N v E ¥ 4 A v mg/L 0.09 <0.0009
39| oo =)L (T P N ) mg/L 0.05 <0.0005 P ~ v 7 + 7 mg/L 0.005 <0.00005
10| ¥ 7 F P b mg/L 0.001 <0.00001 100 ~ > e J v mg/L 0.2 <0.002
41 7 /&% X ( C Y A ) mg/L 0.003 <0.00003 0w R v F 4 X 2 9y v mg/L 03 <0.003
42 A Yy ( D C M ) mg/L 0.02 <0.0002 102] ~ M 7 > h /|2 7 mg/L 0.02 <0.0002
43 4B AXN=- )L ( D B N ) mg/L 0.03 <0.0003 103 Ry )3y (AATYy) mg/L 0.01 <0.0001
44 49 B8 LK R (DDVP) mg/L 0.008 <0.00008 104 ~ > 7 [ t - mg/L 0.07 <0.0007
45| U 9 7 Y ~ mg/L 0.01 <0.0001 105) &« 2 F 7 € = ~ mg/L 0.005 <0.00005
46 CRALKEY(ZFLFFALY) mg/L 0.004 <0.00004 06| = 3 ¥F 4# v (<% 3 v v) mg/L 0.7 <0.007
47 CSF A AL N A -+ R EE mg/L 0.005 <0.00005 107 »*a7mayF (™M Cc P P ) mg/L 0.05 <0.0005
8 U F 7+ = Uz mg/L 0.009 <0.00009 108 # Y H v mg/L 0.03 <0.0003
49 S N B K v F T F N mg/L 0.006 <0.00006 109 A4 Ed > e > 2 mg/L 02 <0.002
50 D2 G c A T ) mg/L 0.003 <0.00003 10| »*F¥4%4F4>( D M T P ) mg/L 0.004 <0.00004
51 P2 A 3 A ~ Y v mg/L 0.02 <0.0002 111 # = 7/ X + B E v mg/L 0.04 <0.0004
52| v 4 ~ T - ~ mg/L 0.05 <0.0005 2] A ~ Y 7 > v mg/L 0.03 <0.0003
53| ¥ A ~ Y > mg/L 0.03 <0.0003 13 4 7 T + - Y ~ mg/L 0.02 <0.0002
54| ¥ d 7 4 / b mg/L 0.003 <0.00003 114] A 7 A = Uz mg/L 0.1 <0.001
55| % A L A > mg/L 0.8 <0.008 115 % Y = - ~ mg/L 0.005 <0.00005
56 B AU A LRUAFINAIFASTH—b mg/L 0.01 <0.0001 116 mg/L
57 | F 7 < = % mg/L 0.1 <0.001 117 mg/L
58| F 9 5 N mg/L 0.02 <0.0002 118 mg/L
59 | F * o h o 7 mg/L 0.08 <0.0008 119 mg/L
60| # # 2 7 = — F XA F 1L mg/L 0.3 <0.003 120 mg/L




